Zaag lijst
@N 934 - M12 - RVS A2-70.ipt Nummer Aantal Omschrijving Afmeting (mm) |Lengte (mm)| A B Materiaal Oppervlak Bewerking
@ 140712-2215.iam 1 Eindbak lassamenstelling - Blank
(DIN 933 - M12x25 - RVS A2-70.ipt G ( 1 . 2 ) 140712-2401.iam 1 Schuif eindbak lassamenst. - Blank
140712-2600.iam 1 Sproeibuis las samenst. - Blank
140712-4402.ipt 2 |Plaat/ strip 50 - UHMW, White Blank uv
\ 140712-4404.ipt 1 Plaat 25 mm - UHMW, White Blank uv
! 140712-4405.ipt 2 |Plaat25 mm - UHMW, White Blank uv
140712-4406.ipt 1 Plaat 25 mm - UHMW, White Blank uv
A-A ( 1:5 ) 140712-4502.ipt 4 |Plaat 20 mm - RVS 304 Blank uv
7 140712-5506.ipt 2 |Plaat3 mm 3243 x 343 RVS 304 Blank L-B
140712-7016.ipt 1 Plaat 6 mm 3108 x 500 Rubber, Silicone Blank K
G # 140712-7017.ipt 1 Profiel Eriks EPDM zwart 2617 L=50 |3800 Rubber Blank K
art 11149610
- @ H @ - 140712-7018.ipt 1 Profiel Eriks EPDM vol 65 zwart 3600 |3830 Rubber Blank K
s 168 | _ = ' = ke - | L=50, artnr. 10000255 '
@ l| l J I Q Q | | | lJ(:)J 140712-7023.!pt 17 |Nozzle DIN 910 (Pipe Thread) G 1 A PPS Plastic Blank K
o A s z " ; — ol — 140712-7030.ipt 4  |Kraaglager brons SOBF12-18-20 - Brons Blank K
|| k=4 \ ) ? h=4 k=4 k=4 =4 || 140712-7035.ipt 1 |4" Kogelkraan - Brass, Soft Yellow Blank K
= 140712-7036.ipt 2 | Eriks Eritite coupler ETD 3" Polypropylene Blank K
© //\ H _’I art.nr.10037351
_fE - - - — 140712-7037.ipt 2  |Eriks Eritite adaptet ETA 3" Polypropylene Blank K
&/ C | art.nr.10037342
J 140712-7038.ipt 4 Parker Brass Ball 3" Valve XV520P-48 Brass, Soft Yellow Blank K
] J /5L..U V| s s V| V| Jm| ym| sy V| V| Jmm_| O [ DIN 125 - 1A 10,5 - RVS A2-70.ipt 12 RVS A2-70
@ — DIN 125 - 1A 17 - RVS A2-70.ipt 16 RVS A2-70
] DIN 125 - 1A 8,4 - RVS A2-70.ipt 37 RVS A2-70
g / g i DIN 609 - M10x85 - SW=16 - ST 8.8.ipt 2 RVS A2-70
f 7 B DIN 933 - M10x70 - RVS A2-70.ipt 8 RVS A2-70
ﬁl; ( l DIN 933 - M12x25 - RVS A2-70.ipt 2 RVS A2-70
0 O 0 0 0 0 O 0 0 [ 0 0 O 0 0 O : = o | DIN 933 - M16x50 - RVS A2-70.ipt 8 RVS A2-70
J DIN 933 - M8x30 - RVS A2-70.ipt 16 RVS A2-70
1 J @ D U DIN 934 - M10 - RVS A2-70.ipt 2 RVS A2-70
DIN 934 - M12 - RVS A2-70.ipt 2 RVS A2-70
J_J ( 1 5 ) O_ / DIN 934 - M16 - RVS A2-70.ipt 16 RVS A2-70
/ﬁ/\ ————r ﬂ|_=_= T | DIN 934 - M8 - RVS A2-70.ipt 24 RVS A2-70
- \\ l H : (DIN 125 - 1A 8,4 - RVS A2-70.ipD | 140712-2600.iam
- \ e ‘ .
- B \ == D(1:2) ||
[ | 140712-4404.ipt
D

i

T 140712-2215.iam
IN 934 - M8 - RVS A2-70.ipD /\rr
{140712-4405.ipt) / \\ | |
DIN 933 - M8x30 - RVS A2-70.ipD _ SN 4J=_.IJI,

T ] ] . >
) /—@N 933 - M16x50 - RVS A2-70.ipt 140712-7018.p1 B B 1 2
e _ > S S DIN 934 - M16 - RVS A2-70.ipt - ( )
140712-7036.ipt \DIN 933 - M8x30 - RVS A2-70.ipt Ll 7 140712-7017.ipt
! : < > ) : /—-40712-2215.iam
a L] H H 1 5 DIN 934 - M8 - RVS A2-70.i@  — ]’/ //—@N 125-1A 17 - RVS A2-70.|pD TS AZ-m-@
- - [ ] |, f li—1
o ] < _ ( . ) .[ el PR
F(1:2 — —r e
N _ T T
i . () =
—_— 140712-7037.ipt L = (] DIN 934 - M10 - RVS A2-7o.ipD
- @IN 609 - M10x85 - SW=16 - A2.ipt
~———————— Z) H J h
Y . T 1 ;Pq‘ |) lr .ll
\ N B L (140712-4402.ipt) @N 125 - 1A 10,5 - RVS A2-70.ipt $of
o i b
—

140712-4406.ipt

i

140712-7018.ipt

i

140712-7017.ipt

D)

140712-2401.iam

2

N o
Vs
1 JFs

140712-2401.iam

B Py
— INEEN:
B i

7
\

r

P

/__-.._
NS

=N
Y

lnd
=

o X
ke K SS=
e

ey ) ez

g

]

{140712-2401.iam)

L £ E-E(1:3) il

' H_ —H 140712-4502.ipt Hr: -IH

iy fulit

K-K(1:2) | :::ii::: - : dle

[HRLINE ) FErn __I [ - I\_\ 140712-7030.ipt | - |
[ . i o ,_,_ 17

IRUIRE IR —@— - —@— ol

i - - I _ J] _ - re — (@)
Fih T | N :::ii::: N J 1. Gaarazzom)
K

@)

[ I DIN 933 - M10x70 - RVS A2-70.ipD

s
o
o
°
°
°
°
o
°
o
°
°
o
o
o
o
°
°
o
o
°
°

| ° Tl
,J_l J_|_-_— | —J_[_I:TL‘E DIN 125- 1A 10,5 - RVS A2-70.ipD \_
—— 54 —F =2
—— — — —— — — l S
£3 H! ':1 . ﬂ !H £3 ! f%_?
Al b I o P
- .|| |. .|| ||. 1
=4l | i . &
Al 1 I I -
t I 1l i —-
i i =
il - I
. I | o o
| | | | | | — | |
UL 1l (I —Y — 1l
u /
'-\ ’- -
| | | | Hr
, i — * ' T
888
140712-7038.ipt
140712-7035.ipt 2
©
o
M 1 &
. £
3
T E
I I £
I I =
2
(3]
il _ :
&= _]] @
o
! 3
I I
O 5
I 2
I o
Kogelkraan in juiste standspositioneren en schroefdraad afdichten en borgen met Loctite 577 (5x)! = g
-7016. I =
| QL
. ©
@IN 934 - M16 - RVS A2-70.|pD— T
@IN 933 - M16x50 - RVS A2-70.ipD\ E
@IN 125-1A 17 -RVS A2—70.ipD— §
5
I 5
‘©
. . 0 i 0 i 0 0 il i [ ] i il il i i 0 0 n_J 0 g
-
o
o
= z i
5
0
k3]
(0]
|| || 2
o
0
T
(]
S
3
(&)
8
[ 2
o
@®©
Q)
1Y
I 5
| =
—:— Blad 1 van 2 _ O
I — . — ,
N &\% RoughneSS:Acc_ 1SO 1302 Machining mlerance;.cc. 1S02768-mK Dimension loleranceAcc- EN ISO 13920 (Class B)
Company name : Universiteit Utrecht Drawn : RB Format : A0
Project : PO1 4071 2 Date : 13-10-2014 Sheet: 1 / 2
Description : Eind bak kompleet Weight: N/A Projection: ‘ .
seale:  1:5 Released
Consmema
] Hattem 140712-2220.iam 0

This document and its content is the property of Consmema BV. Non-public information contained here in shall be treated as Confidential Information. No use, copying, citation or publication of this document or its content is permitted without prior written consent from Consmema BV.



It
N

{140712-2401.iam)
DIN 609 - M10x85 - SW=16 - ST 8.8.i@ .

140712-7017.ipt

140712-2215.iam

140712-4406.ipt

140712-7018.ipt

140712-4402.ipt

140712-7016.ipt

140712-7038.ipt

140712-7035.ipt

140712-4502.ipt

140712-7030.ipt

(140712-7016.ipt }

140712-7017.ipt

140712-7018.ipt

140712-4405.ipt

140712-7023.ipt

C:\Workspace\Documents\Projects\PO140712 - Universiteit Utrecht - Kanteltafel Metronoom\2000 (Samenstelling)\140712-2220.dwg

Blad 2 van 2

Dimension tolerance:

Roughness: 3
ACC. EN ISO 13920 (Class B)

ACC. SO 1302

Machining tolerances:
ACC. 1S02768-mK

Company name : U n ive rSiteit Utrecht Drawn : RB Format : A0

Project : PO 1 407 1 2 Date : 1 3-1 0-201 4 Sheet: 2 / 2

Description : E i n d ba k ko m p I eet Weight: N/A Projection:

Seale:  1:5 Released
Consmema
Hattem 140712-2220.iam 0

This document and its content is the property of Consmema BV. Non-public information contained here in shall be treated as Confidential Information. No use, copying, citation or publication of this document or its content is permitted without prior written consent from Consmema BV.



